
 

 

 برد توابع زیر را به دست آورید.   مثال)

 
) ( )18 2 sin 3cosf x x x= −      ) ( )19 3 sin 4 cosf x x x= −  

 

) ( ) 2 220 4 sin 2cos 8 sin cos 3f x x x x x= − + +   ) ( ) [ ]21 sin cos 1f x x x= − −  
 

) ( ) 100 20022 sin cosf x x x= +     ) ( ) 20 6023 sin cos , 0
2

f x x x x π
= + < <  

 

) ( ) [ ]24 tan cotf x x g x= +      ) ( ) 3 325 4 tan 9 cot 3f x x g x= + +  
 

) ( ) 5326 4 sin 12f x x= −  

 

) ( )
2

2
sin27

4 cos
xf x

x
=

−
 

 
) ( ) ( )28 sin 1f x x xπ= + − 

 

) ( ) 229 cot
1

xf x g
x
π

=
+

 

 

) ( ) 230 tan
1

xf x
x
π

=
+

 

 

) ( )
2

231 sin
2

xf x
x
π

=
+

 

 

) ( )
2

232 cos
2

xf x
x
π

=
+

 

 

 
 


